SGT-0422
ESMERILHADEIRA ANGULAR 7" INDUSTRIAL

Item Codigo Descricao Qtd. Item Cadigo Descricao Qtd. Iltem Codigo Descricao Qtd.
1 0751042201 | CARCACA 1 26 | 0751042226 | ESFERADENYLON(9/16") 1 50 | 0751042250 | ROLAMENTO(60877) 1
2 0751042202 | ANELDERETENCAO (RTW-20) 1 27-1 | 0751042281 | BASEDELIXAMENTO (5/8-11UNC) 1 51 | 0751042251 | ROLAMENTO (620422) 1
3 0751042203 | ENTRADADEAR 1 27-2 | 0751042227 | BASEDELIXAMENTO (M14X2P) 1 52 0751042252 | PARAFUSO (M6X20) 1
4 0751042204 | GATILHO 1 28-1 | 0751042282 | PORCADABASEDELIX.(5/8-11UNQ) 1 53 | 0751042253 | FELTROLUBRIFICANTE 1
5 0751042205 | PINODEVALVULA 1 282 | 0751042228 | PORCADABASEDELIX.(M14X2P) 1 54 | 0751042254 | ANELTRAVA 1
6 0751042206 | BUCHA 1 29 | 0751042229 | ORING(198X24) 1 55 | 0751042255 | PORCA(M6) 2

0751042207 | ARRUELA (02MM) 1 30 | 0751042230 | COROA 1 56 | 0751042256 | MANIPULO 1

7 0751042207 | ARRUELA (03MM) 1 31 | 0751042231 | PARAFUSO(M6X30L) 1 57 | 0751042257 | VALVULADEESCAPE 1
0751042207 | ARRUELA (05MM) 1 32 | 0751042232 | ARRUELA(53X10X03) 1 58 | 0751042258 | TAMPADAVALVULOADEESCAPE 1

8 0751042208 | MOLA 1 33 | 0751042233 | PINO 1 59 | 0751042259 | ABAFADOR 1
9 0751042209 | CARCACATRASEIRA 1 34 | 0751042234 | ARRUELA 1 60 | 0751042260 | ORING(135X15) 1
10 | 0751042210 | VALVULADEREGULADOR 1 35 | 0751042235 | CONTRAPORCA 1 61 | 0751042261 | PARAFUSOESPACADOR 1
1 0751042211 | ORING(155X15) 1 36-1 | 0751042283 | PORCAESPAGADORA (5/8-11UNC) 1 62 0751042262 | PARAFUSO (M8X8L) 1
12 | 0751042212 | PESODOREGULADOR 2 362 | 0751042236 | PORCAESPACADORA (M14X2P) 1 63 | 0751042263 | FELTROLUBRIFICANTE 1
13 0751042213 | MOLA 1 37 0751042237 | EXO 1 64 | 0751042264 | PINOELASTICO(3X20L) 1
14 | 0751042214 | PLACATRASEIRA 1 38 | 0751042238 | MOLA 1 65 | 0751042265 | PROTETORDODISCODE7 1
15 | 0751042215 | ROTOR 1 39 | 0751042239 | ROLAMENTO(600272) 1 67 | 0751042267 | ENGRAXADERA 1
16 | 0751042216 | PALHETAS 4 40 | 0751042240 | MOLA 1 68 | 0751042268 | ORING(285X2) 1
17 | 0751042217 | PORCA 1 41 | 0751042241 | ARRUELA 1 69 | 0751042269 | CHAVEALLEN4MM) 1
18 | 0751042218 | CLNDRO 1 42 | 0751042242 | AJUSTADOR 1 70 | 0751042270 | CHAVEDEBOCACOMPINOS 1
19 | 0751042219 | PLACADIANTERA 1 43 | 0751042243 | CHAVETA(@4X10) 1 71 | 0751042271 | CHAVEDEBOCA 1
20 | 0751042220 | GUIADEENTRADA 1 44 | 0751042244 | TRAVADOGATILHO 1 72 | 0751042272 | CHAVEDEBOCA 2
21 | 0751042221 | SUPORTEDAMOLA 1 45 | 0751042245 | ORNG(335%2) 1 731 | 0751042284 | FLANGE(5/8-11UNQ 1
22 0751042222 | PINOESTRIADO 2 46 0751042246 | PINO(25X158L) 1 732 | 0751042273 | FLANGE(M14X2P) 1
23 | 0751042223 | PNHAO 1 47 | 0751042247 | PINOELASTICO(3X8L) 1 741 | 0751042285 | DISCOTRAVADAFLANGES/B-1TUNO | 1
24 | 0751042224 | ARRUELA 1 48 | 0751042248 | PINOELASTICO(3X6L) 1 742 | 0751042274 | DISCOTRAVADAFLANGE(M14X2P) | 1
25 | 0751042225 | BASEDOROLAMENTO 1 49 | 0751042249 | ROLAMENTO(6301) 1 1

SGT-0422 - VE www.sigmatools.com.br o




